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The Kingdom of Ballabhgarh was annexed by the |[1,_—1857 & A fage &
e 57

British after the Indian Rebellion of 1857. Who
was its last ruler ?

(A) AjitSingh 7. (B) Gopal Singh

(C) Nahar Singh~, (D) Balram Singh

(E) Not attempted

oo

TR FET AT o7 | wy sifem Erron
e ?

(A) e fife (B) Tt fig
(C) e e (D) =R Rz
(E) I €T <1 91ed

Select the combination of numbers so that letters Zc/q@m\-r ¥ dareT T 997 R

arranged accordingly will form a meaningful

word.

N|IIR[]O||C]||T]|]|A

] 2

(A) 162435
(B) 652314 'f’j
(C) 235461 O
D) 462531 =

(E) Not attempted O‘";
N

You are facing the rising sun early moming. Yo
tun 90° clockwise, then 45° anu-clockwise.

Which direction are you facing now ?
(A) South-West

(B) East

(C) South

(D) South-East

(E) Not attempted I‘:‘\D 5

E]:-s!ﬁ |

f
In a certain code, UTEACHER” is written as (4.
“VGCEJGT”. How:“would “DULLARD” be
written in the same code ?
(A) FWNNBTE ‘
(B) FWNNCTF
(C) FWNNCSF
(D) FWNNCRE
(E) Not attempted

SR ITER U Qe 3158 41 T4 |

N R||O C TIA

I 2

(A) 162435
(B) 652314
(C) 235461
(D) 462531
(E) 37 €1 &1 <med

EiE
55

;rf//smuﬁw:mzzmnua#ﬁungamﬁtwéﬁlmmr

wrauwmaﬁm4?ammﬁmﬁ%|aasmﬁ%a
Ml SN WF A E?

(A) afEvrefraq

(B)

(C) ar&w

(D) 2f&ror-gd

(E) A &1 =red

s fafyad 32 §, “TEACHER” &I “VGCEJGT”
mewwﬁmmamn%nuﬂazﬁ“DULLARD”aﬁ

forg g for@t ST ?

&2&




s, which Article of the Indian Constitution|5. /qr((:ﬁ'q dferem & fra
facilitated the creation of Haryana as a separate mm%@ﬁm?ﬁ}? 3 EPgroy 3
state ? (A) FTE239 o
(A) Article 239 B) 3?3????3
(B) Article 3 ©) :ﬂfla'ﬁa | S
(©) Art?cle 1 D) 3@371 w
(D) Article 371 © Wﬁé’ﬂmg?},
(E) Not attempted |
6. Underthe Haryana Budget 2025 — 26, how much %WW” <12 2025 - 26 %W)Wa&tﬁ
amount has been allocated for women’s welfare Wqﬁaﬁﬁ%m%mm Uﬁm%
under the Lado Lakshmi Yojana ? HTEE? e
(A) Z5,000 crore (A) 5,000 FS
(B) Z4,000 crore (B) T4,000 FIe ::\,
(C) Z3,000 crore (C) 3,000 FE Cfi
(D) % 6,000 crore - (D) 6,000 FS ‘:::!
(E) Not attempted B ®) Wﬁﬁmﬁ\:
7. Which among the following is not a| 7 ﬁm%f@ﬁﬁﬁaﬁ?-mgﬂammﬁ@m
Constitutional Body in the state of Haryana /1 | R TET 8 ? :
(A) Haryana Public Service Commission ; (A) feToTT St |t TR
(B) State Election Commission | (B) US4 I
(C) State Finance Commission (C) s fam s
(D) Haryana Human Rights Commission | (D) mmm ST oy
(E) Not attempted ! (E mqﬂéma%g B8
8. The ‘Pinjore Gardens’ (Yadavindra Gardens) in|8. § fieiR e @R T ford
Haryana are an excellent example of whic WWW@W%"
architectural style ? (A) sg‘r-wﬁﬁmaﬁwm
(A) Indo-Saracenic architecture (B) WW!
(B) Rajput architecture ) fafewr SRR argE
(C) British colonial architecture (D) T e e
(D) Mughal garden architecture E) I - S
E) Not attempted
9. iV})iich of thep following Parks/Santuaries 19 s & Frefefag & & A /A
Haryana is a Ramsar site ? TR A ?
(A) Nahar Wildlife Sanctuary (A) ATE F=iig 3INE
(B) Sultanpur National Park (B) oAy s
(C) Abubshahar wildlife Sanctuary (©) ¥ > iz
O g ™ () e U
(E) I Tt 31 = -
e /
&38&
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10.

11.

12.

13.

14.

15.

ry is 25% mor

p's sala
40% less t

3(0% moT ' i
By how much 18 Dccpak s sal

I‘)
Ch;*fﬂ;';z;% (B) 62:25%
0 66T 33%
EC) 66:67% (D) 73 339
(E) Not attemptee

1 5
L — =2,thenX +
Ifx+

(A) 2 B) 0
(E) Not attempted
1 cube of side

recast into smaller spheres
?
many such spheres can be formed ?

@A) 535 (B 655 (C) 612
(E) Not aﬁempteq 3

A solid meta 14 cm 18

If ‘@’ and ‘b’ aré:"'positiv

a2 - b2 =31, then what is the v

e than Bishnoi’s.

han Arun. Deepak earns

ary more than

1 )‘
5
(—" :-——_—_________.
X

(C) 5 (D) 6

(D) 724

alue ofaxb?

() 246 ®220 (©128 (D 321

(E) Not attempted

The average weight of 6 boys is 50 kg. A 7th boy [14.
joins and the new average increases by 4%. Later,
an 8th boy joins :a'nd the average increases by
1 kg. What is the weight (in kg) of the 8th boy ?

(A) 62 (B)S56 (C)57  (D)60

(E) Not attempted

From a point A on the ground, the angle of
elevation to the top of a vertical tower is 30°.

EiE
S
[oE]

melted and | 12.

of radius 1 cm. How

e integers such that |13.

B

10.
mm%%@é%mgzs%m%lm

mﬁ40%mm-
aﬁmwél %I?ﬂqzﬁ,ﬁp:frg%m%

j\waﬁmm%éﬁqﬁﬁﬁmm%?
(C)) f3-33"" (B) 62:25%
6:67% (D) 73-33%
(E) 3o 7 391 =rrery 7
| it
aﬁx-#; =2,?ﬁx5+(;1)5=
(A) 2 (B) 0 (C '
)5 D) 6
(E) IR el e =rea "
14 Bt ST a1t T B v % o A e

1 ¥t P e B ey s s # | S Fare i
ST ST Hehal © 2

(A) 535 (B)655 (C)612 (D)724
(B) SRS o1 Amed

MR @ e b uAems qoiw € R
2 —b =31, WaxbHFATFIE?

(A) 246 (B)240 (C)128 (D)32l
(E) IO AT =ed

6 Sreai a1 e ae 50 Rl & | T 741 Trgd
sﬁ-mﬁaﬁm%ﬁtmaﬂwmaﬁm%l
Wﬁ,@'ﬁwﬁwﬁaﬁm%aﬂuﬂm
| FreiaT oG ST 2 | 85 wrgeh oh A (FRamm
T wTe?

(a) 62 (®56 (©57 (D60
(E) I T =t |

meﬁgAﬁ,wmrﬂm%m‘aﬁr“
maﬁmm%l@ﬁigB%,sﬁﬁigAam%

bl

From a point B, which is 50 metres c

:;:Sjal(i)inﬂiz tt:f\:vter from point A, 1hlé’s:;gtlc; ﬂ;‘; 3R ¥ 50 et 1fern ﬁ?‘d g, Iﬂ?l’(ﬁa? E‘ﬁ;?{

Tt AT A

) 25/3 m (B) Sroej'gm (A) 25¢/3 m (B) 504/3 m .

Eg ;(i:mem (D) 25m (C) 50m (D) 25m
Pied (E) Tl 3T <Iedt

848
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16.

17.

18.

19.

Whicfh o.f the lfollowing policies aims at|
transforming rural econom R
self-help groups (SHGs) ? y through women-led|
(A) PM Gati Shakti [
(B) e-SHRAM "
(C) DAY-NRLM ;
(D) PM-KUSUM |
(E) Not attempted

Statement I : The Prime Meridian passes throu211,/17/

Greenwich.
statement 11 : It is at 0° latitude.

(A) Both Statement I and Statement II are

correct.
(B) Statement I is correct, but Statement II is

incorrect.
(C) Both Statement I and Statement Il arc

incorrect.
(D) Statement I 1s incorrect, but Statement 11 15
correct.
2
(SEe

(E) Not attempted

Which of the following phenomena best explains 18.

(he appearance of a blue sky ?

(A) W avelength-based scattering of light

(B) Reflection of ocean colour
(C) Absorption of ultraviolet rays

Mﬁém‘mmmg‘mqﬁ .

: &l (SHG) %
Waﬁwa@!ﬁm%? ) & Arem g
(A) T T TR (PM Gati Shaki)

(B) &7 (c-SHRAM)

(C) T TTTETE (DAY-NRLM)
(D) EE-FEA (PM-KUSUM)

(E) T AT

m].-mm‘t@m
) ) TfeT & B
S [T - TE 0° TR TR
(A) or [ S e 11 31 W
(B) o | TE1 &, AT FEF T 8 |
(€) o | 3N HUA [ T & |
(D) mlﬂﬂ'ﬂ%ﬁfﬁﬁmllqﬁ%
(E) ot e FT TR
()

-

<

frfafaa # @ HA-H TREET et e
Safeafa 1 FR Hod T Y WA ?

(A) T 1 TR ST S

(B) HETATT F {1 %1 fdfee

(C) wrTTT foroii o1 STaiT

~

(D) Curvature of the Earth (D) el &1 Tl
(E) Not attempted (E) IAF TR & Qg,@
At @B
O
India successfully hosted which  major 1(9( WIT 72024 & mﬂéﬁﬁ@wmﬁ
international summit in 20247 Wﬁm #1122
(A) BIMSTEC Summit (A) forge (BIMSTEC) firat awied
(B) SCO Summit (B) wHEfteT (SCO) farat aeiei
(C) SAARC Summit (C) ®1 (SAARC) firay awieH
(D) G20 Summit (D) 120 (G20) fimet v
(E) I T 3 =gt
e

(E) Not
&5&

itflilic‘i//

°l




ass$
d Cut iven Answer

- "
(D) @ e

|TEd
) SRR o
o (E
() Not atterl! pted 3+ e woE B A, 79, SRR En
:] and green, 7 g4 BT qﬁg Fay mmmmﬁéﬁ
&2 e ainted red, blue, the T % ﬁ; q':ﬁ .a. FHIET T | mtﬁ[
g1, Sixfaces O WETER © o ot faces have 721 | fT o Y 64 B
' in a manner thaf no;:/ ;s then cut into 64 Smalics ¥ shact @WWWW% ]
he cu face
ame colour. T only one
% zubes. How many cubes have (A) 24
coloured red ? (B) 8
(A) 24 (C) 10 .
B) 8 (D) 6 i e
D) 6 EyE
(E) Not attemﬁed ﬁ%t’u
O ey gl IR ¢
22. Complete the series : 2 AT 2217, 34, 4
7,14,11,22, 17, 34, 2 7,14,11, 2%
(4) 27 “<} (A) 27
@ % B 28
(©) 28
D) 39
(E) Not attempteq (D) 39

® mqﬁamaﬁ%/
\

&6 &
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23 tdentify the C o.rrect I.)air of indigenoys cattle |23, &R “-a":{?T:T@%aﬁﬂmq%?ﬁ:lﬁ%gﬁgm
preeds that originated in Haryay, . . " qgEm AT
(A) Sahiwal cow and Banni bygpy;, C oy et T S A T
(B) Gir cow and Jaffarabadi bufgy,, (B) fopg T S ST e
(C) Hariana cow and Murrah, b, falo ( o iR g e
K ) TR 7T AT HEHT Sy
(D) Tharparkar cow and Mehsan, buffalo (D) ™ 2
Not attempted e ol
(E) (E) ﬁ(qﬁa:” o
TR &3 éﬁ?}*lmrﬁrmmﬁm
What percentage of Haryana’s geographical 24 W% LUUSED J ' 8
24 phical area ’
js covered by the Protected Areq etibrk Yoads (g 3, a'—"ﬁ“a\?j Ao, T fiere)
(National  Parks,  Wildlife  Sanctuaries,| g <]
Conservation Reserves) ? (A) 0-34%
(A) 0:34% B) 11%
(B) L1% (©) 075%
() 0:75% D) 0:62%
(E) Not attempted Bl g
ST qRER gea 9= (dididh) Joredt & @,
25, Under Haryana’s Parivar Pehchan Patra (PPP) / Eﬁﬁgﬁmm‘w%?
system, which of the following statements is frefafad v & aﬁ[‘gﬁ
correct ? (A) mwmw%” & IEIE'"??' LLSICIES]
i ily ID. ID) l ~
(A) Only Haryana residents get a Family ID ( AN 3
(B) Families outside Haryana get a 9-digit ID (B) g éw%qﬂﬁrﬁ T 31&1’(% =
starting with letter ‘T". i areft 9-3.1&%?:@[ 3RS (ID) iflagl I
(C) PPP is mandatory for all residents. © aﬁﬁmﬁﬁ%%@“ﬂ'ﬂﬁ AfEr g 4 oo
(D) Temporary IDs are for migrant workers (D) 3Tt ST (ID) et yareht st
only. gl aym
(E) Not attempted (E) 3T el AT 9T EEC]
ich bi STt T ST
. o in the population of which bird 26— efmon (3R e o) For waft
Rty y India) is a ﬁﬁm@nzatgfwiawﬁugﬂ%, et g7
species in Haryana (and across largcly 5 TR
significant environmental conce.m, Serinany RO 9] Ferfepca i%iliic%i 57
attributed to the use of Diclofenac 1n ve (A) T s
medicine ? (B) R O
(A) Cranes (C) ﬁa i_/;
(B) Peacocks (D) e 0/]
(C) Vultures o T — :
(D) Sparrows
E) Not attempted




27. Consider the following statements :
| 8

. istrict of
is being built in the Hisar distri
Haryana.

IL. The Haryana government has removed the

age limit for"the ‘Mukhyamantri Kisan

Evam Khetihar'Mazdoor Jeevan Suraksha
g L) \ }
Yojana’, \

H .
The 3rd edition®f the Saras Aajeevika Mela
was held in Gur_’g:xgram.

Which of the above statements are correct ?
(A) Il and I1I only

(B) I, I and 11

(C) Tand 11 only

(D) Iand 1 only,,,

(E) Not attempted?

I11.

28. In2022, Haryana {'a;iked among
Indian states in the(; txport Preparedness Index.
(A) 8th 50
(B) 4th <
(C) 2nd h
(D) 5th

(E) Not attempted

29. Which author from Ha

Tyana won the Sahitya
Akademi Award for wo

1k in Haryanvi language
in 1990 for his Poctry collection titled “Bire Da

Viyah” 9

(A) Jasbir Singh

(B) Uday Bhany Hans
(©) Mewa Ram GE%r
(D) Gopi Chand Narang
(E) Not attempted ) [OEY
What is the cﬁﬁent number of reserved

constituencies for Scheduled Castes (SCs) in the
Haryana Vidhan Sab

By
30.

a?
(A) 20 (B) 15
(C) 2 D) 17

(E) Not attempted

in North India |
The first nuclear power plant in Nort

27

%2 ﬁ,ﬁmwwﬁmmw
H T W o)

(A) 83

(B) =

(©) T

(D) 53

(E) S =l

%90&@%@3‘#&?3%’%%

Mwﬁmmmsﬂaﬁaﬁ
AT HT AT & 2

(A) Seir i

(B) 337 g &4

(C) Faruw e

(D) Tt =g TR

(E) I LT AT I TR

, zg%mnﬁumwﬁaﬁﬁaaﬁﬁm)%%q
= ST FatsH-86t ot S e frat 2 9

(A) 20 (B) 15

) 2 (D) 17

(E) S <1 =meqy

&8 &



v .

| In the following question, find out which of the

RYA

Answer Figures (A), (B), (C) and (D) completes

he figure matrix.
olo
’\—’ olo
IS
O o\©O
M
C@D (@l
\_/

Answer Figures :

@ | £ ® | s
S U

© (0803 ®) (O >
S oLJo

(E) Not attempted

Which of the following diagrams represents the,
relationship among Beverages, Coffee and Soft
(Cold) drinks ?

4) o
® O _O

O
@

31

(E) Not attempted

e 3, T I 7 3 et o)
(B), (C)W(D)ﬁﬁ@q'mmaﬂaﬁ’@rw
FAT e |

m&]‘@ﬁ'ﬂf
A ‘
* | B ,(B) @3@
S
3
(C) @a (D) HS
8 r; OvO
(E) wqﬁfémmaﬁ;

gl

37 P i & e s e, T g

(IeT) U & it Geer guriar 2 2
&) Qo
® O_O

O
°@ 39
¢

(DI BT T ——

oP0)
3

&9&




3.

34,

3s.

36.

37.

A number is increased by 20%, then decreased by
30%, and finally increased again by 50%. What

is the net percentage change in the number from
its original value ?

(A) 0%
(©) 10%
(E) Not attempted

(B) 26%
(D) 16%

Selling Price of two items is € 120 each. One sold
at 25% profit, the othér at 25% loss. What is the
net profit or loss for Fh% shopkeeper ?

(A) T16profit
(€) T25loss

(E) Not attempted

l (B) No profit no loss
2 (D) 216 loss

&

i
2
o

A sum of money, il;{}!ested at a certain rate of
simple interest for 3 years, yields ¥ 1,200. If the
Same sum were invested at the same rate of
compound interest (compounded annually) for
2 years, it would yield T 840. What is the
principal sum and thre > Tate of interest ?
(A) Principal : € 3,86@, Rate : 10-5%
(B) Principal : ¥ 4,200, Rate : 9-5%
(C) Principal :f3,6Q6, Rate: 11-11%
(D) Principal :T4,0i(i§), Rate : 10%
(E) Not attempted %}

E#E
5

A hemisphere and cone have equal volumes. If

the height of the cone is h and radius of both is &
find h in terms of .

(A) 2r oy (B) 413
©) r o5 (D) 312
(E) Not attempted O

a

(93]
If a train is 180 m long and crosses 3 man in
9 seconds, then how-

Hong does it take for jt to
cross a 280 m long platform ?

(A) 27 seconds
(C) 18 seconds
(E) Not attempted

(B) 23 seconds
(D) 21 seconds

JA& 180%3@@@,@%3&9%&

33, /CH HEATH 20 i i 1 <Telt 2, T 30% i oy
Y St R, 3 ofa B 50% i gig i e R

Mﬁgﬁq@mﬁﬂagﬁmqﬂaﬁ?w
g7

(A) 0% (B) 26%
(C) 10% (D) 16%
(E)- I i &1 =

34, A1 gy & 5 e o R e 120 3 1w
T 25% T T A= T, TE P 25% T |
TRTRI hT Y[g A I7 1 3 @ 9
(A) T16HTEH (B) TAM AN
(C) T25Hr=fv (D) T16Hr =ty
(E)- Sl e =

© T UTURT 1 HER S Y U R @ w
3 91 % for Fdw et mz 1,200 ww A E | 7R
SHT T A w3hafe sar o @i s
ﬁéﬁrﬁa)wzaﬁ%%qﬁ%a%mmﬁr
T840 ST Y | 7T SIf3T (opeterT) o st gy

g7

(A) T : %3,800,  : 10-5%

(B) WEHT 1% 4,200, 2T : 9-59

(C) AT :%3,600,2T: 11119

(D) TRHT : T 4,000, 2T+ 10%

(B) S 3=y

3%Wﬁw%mwﬁlw&ﬂ§ﬁ
ST 1 3 S R BT e 8, A ¥t ot g
hifer |

(A) 2r
O r
(BE) 3T 1 =mer

(B) 4r/3

(D) 3r/2
s
e

wm%,aﬁsﬁzsoﬁaaﬁmﬁﬁwaﬁﬁ
7 fehaar g & 9

————

(A) 27 Whs (B) 23 U5
(C) 18 The (D) 21 ¥
(E) Se e <Ar =

&10 &




8 A factory uses three machineg
produce a specialized type of wi
Machines A and B working toge
100 widgets in 4 hoyrs

Machines B and C Wworking to
100 widgets in 5 houyrs,
Machines A and C working to
100 widgets in 2-5 hoyrs.

If Machine A were to work al]
would it take it to produce 100 w
(A) 40/9 hours

(B) 16/3 hours

(C) 5 hours

(D) 4-5 hours

(E) Not attempted

dget.

ther can produce
gether cap produce
gether can produce

one, how long
idgets ?

what is the value of 16 @ 10 =9

(A) 10

g
e @m@ﬁﬁﬂm%ﬁ:}gm%mm
Tefit (A, B 3T C) 1 IR i 3
afrT A 3T B T 0 FH 6 4 52§ 100 fyde
Wﬂﬁﬁi‘l

3t B 31T C T 8T W Hih 5 62 11 10 e
qefim A 3 C TF W W 25w
100 firsre ST Ehd € | ‘(‘;3

Zf el A ST F1H HL, AIY 100 fdve 593
(A) 40/9 ¥

(B) 16/3 ¥

© 5%

(D) 456 oy
(E) T TEl AT =ed s

39 RS @1=60;12@8=200; 16@2=180 %;
R a3
q 16 @ 10 =FTHA FTR 25

—~

(A) 10 ‘>._)
(B) 260 (B) 260 },j
©) 9 (C) 9 3¢
(D) 32 (D) 32 <]

(E) Not attempted S

40. A cube has six different symbols drawn over its
six faces. The symbols are dot, circle, triangle,
square, cross and arrow. Three different positions

of the cube are shown in the figures.

(E) 3 FEl A1 9Ted
40. U 97 ¥ T8 Helhl T D IFeAT-3T Telleh 9 §¢
%lm%—ﬁg,qa,ﬁga,aﬁ,maﬁt?ﬁtl
TR | 97 Y fi7 31emm-o1enT Rufaaf zwis 78
gl

Which symbol is opposite the Square ? Tt % gl aﬁ?-mn?ﬁa;g.'y
P60 Gee
(A) Cross (A) ¥ e
; (B) Circle (B) Tw <

(C) Triangle (C) By

(D) Arrow EE) it
(E) Not attempted ) T 7 e

&

118&




et

e ST T N e —

41. The “Surya Grahan Mela” (Solar Eclipse Fair) is|41. ‘Tﬁf TR AT T a3 llgaatEi %‘%
a unique and significant event specifically held in it ferdha v & wfemon 3 fom el o SRR
which pilgrimage site in Haryana when a solar T 9T R fra s R 9
eclipse occurs ? (A) waferer, TE&?H ;?5
(A) Jyotisar, Kurukshetra (B) 1@ frreeh = HeReT, A
(B) Sheikh Chilli’s Tomb, Kurukshetra © %ﬁmfg, 5533’5[ (]

(C) Bhishma Kund, Kurukshetra (D) ST TerT, FwerT /2
(D) Brahma Sarovar, Kurukshetra (E) St g =mea”
(E) Not attempted /]
42. Which of the following statements is correct|42, BREm# T gﬁ'ﬂ'ﬁﬁ | (HAIET=A) %ﬁr:m;
regarding recent infrastructure developments in & wey i fefifaq ¥ S dm-ar Fum aer 29
~ Haryana ? (A) TETE guEdt JU-=He o a1l qe T Rera &
N igarhi i bank of shamom AR st :
N (A) };a:(hlgaézl is 1100?;?1- gndthi- left bank o (B) JarFT 2016 F iy
: alaeo-Channel of Drishadvati. R
_ _ ' Taran| -
(B) Haryana Right to Service Act was passed in (C) TS T 1639 siaren 3R Ae 3
2016. , N— @)
(C) National Highway 152D connects Ambala : 'f’EFE éég 3% >
and Namaul. (D) N e_;z T Jerat
(D) The Eastern Peripheral Expressway passes . S
EEE
through the city of Hisar. (B) ST T SEE| E'
(E) Not attempted
43. Which temple in Thanesar served as a prominent 43/9:/ﬁw T -\ e A & W &
religious site during the reign of King A O T T T & ®9 § 5 ar a2
. 9 \ L
Harshavardhana ? (A) I e TifeT
(A) Amin Bhadrakali Temple (B) wﬁwu'a'r%awﬁt
(B) Sthaneshwara Mahadev Temple ©) R ey
(C) Vishvamitra Ka Tila Temple D) R sife
(D) Pashupatinatha Temple B . o
(E) Not attempted Bym (B). SR
OE2: O
. Find th :
44 ind t fa odd one out 44, ﬁwmaﬁﬁm : 2
(A) Prism (A) fisw ©
(B) Mirror (B) adur q
(C) Lens ©)
(D) Window (D) Reeds
(E) Not attempted (E) Fo0E 3
D &12& —
n



Find the odd one out

45, fere 3T IR

/(A) 417

T a7 (B) 370 ®) 370
(E) Not attempted (E) ITT 21 AT 9T " -
o s
,\\)

6 A certain number, when divided by 15, 20, or 25, 45};&[%33%1@3% 15,20, F 25 ¥ fvifm o
Jlways leaves a remainder of 8. What is the 2T 8 WY F=dl 2l Q{ﬁ;iggm e B 3
smallest such number that is also greater than a}SOOﬁ*ﬁa@%? O/

5007 (A) 592 (Ek 615
(A) 592 (B) 615 (C) 608 (D) 612
(C) 608 (D) 612 (E) ST &1 =

(E) Not attempted

g7, IfREAD s codedas 94 (18 x 5 +1x4), how will |47, @R READ 3194 (18 x 3+ 1% 4) % &9 1 Hfed
MATH be coded ? Eer ST &, A MATH &I jﬁaﬁ%ﬂﬁms{m?
(A) 156 (A) 156 8
(B) 160 (B) 160 O
C) 173 (C)'173 &
©) -2
(D) 165 oy (D) 165 4
(E) Not attempted Esh (E) 39T FET ST 9Ted

, T afed

48. Fourindividuals—P, QR and S — are suspects 1 48. =m=AfE-P,Q,R RS -Eﬁﬁ%@mﬁ
a theft case. They make the fOllOWlng % | aﬁﬁﬁﬁgﬁ Wm% .
statements : PFEaT : “«Qeri g l”

P says : “Q s guilty.” Qwward: ‘RATEI

Qsays: “Ris guilty.” RFEAS: “P PRI o

R says : “P is innocent.” S wEar g : f fEw g I” O .

SSays:“laminnocent.” o ﬁ%m%ﬁﬁﬁ%ﬁﬁ@ﬁﬁ%ﬁ

If it is known that exactly one f’f them 15 guilty, had el A I3 aﬁ?ﬁjﬁ% @ft e i

and only the guilty person lies @1 OS] Gy gy dranfra 7

people tell the truth), then who is the guilty one (D) Q

(A) P (B) R © S 1

(E) I &7 =Imed

(E) Not attempted /

—_— — &13& ‘
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49. fr=fafad et ot femm fifsre
1. giEmm ara & Wdﬁﬂ HT 2349,

S | ™
Haryan? ¢ . .
of India: . d the shooting 11, Wﬁmﬁm@aﬁrﬁ?ﬁmﬁ%'
red pas legaliZe forr 2 ki
The & \7eml'ﬂ€m 143 ‘ |
L. of female Nilgal$ jgnificant threat to 111 éam%mgﬁm;nawr&wﬁ%%
GHose @ mw |
1 Lantand £ zi: ecosystcm QEF‘ '
ine Haryand P8 e correct ? s i & A e w7
-~ cfatemen
which of the @ vecst T 11 only (A) waa I (B) &Fae I1 3R 11
=
(A) 1L only 2 o Ll ond 111 (C) Fa@isinl (D) LI
(©) 1and 11 only (E) IO et AT e
(E) Not attempte stitutiOHS and W ﬁ‘ ﬁ' W’:h 3ﬁ( 3:@'7 pﬂzﬁ' hT ﬁ:f_m
Which of the following pairs of i1 - JH TR ?
* their Jocations 18 incorrect Hisar @A) = g g . . _ Rew
(4) Central Insttue 197 : (ehroTmaTT)
Research on Buffaloes ‘ . i 3
B) TS S IFHH HEIH T
(CIRB) . (B) pulart 311(311%)0 :
B) National Dairy Research  ~ s . A
. 15 C) WRAR Yot Her - T
Institute (NDRI} (
O _  Rohtak (STTEHATSTH)
(C) Indian Inst1tute</0|f . . oi 4
Management (IM) (D) m{?ﬁ'ﬂ‘fﬁ I g™ gl
o ;
(D) Indian Agricul:’n?Lal — Panchkula 2 (a'é@:" TS o
Research Instittite (JARI) (E) mq—sﬁ-aq-[qﬁ% e
(E) Not attempted grg
51. Which of the following statemen'ts about the jl/ ﬁg@ﬁmmﬂﬁ:ﬁw
Mukhyamantri Bagwani Bima Yojana (MBBY) %aﬁﬁﬁm%ﬁaﬁﬂﬁaﬁmﬁw
in Haryana are correct ? L 3@ T ¥ 46 EIUEIGIl wEal Ea| MIIER] forat
I The scheme covers 46 horticultural crops. el
Il Premium is T 7z‘>i?yacre for I Wm%mmf 750/@3% |
vegetables/spices) : ) . o
I1I. Maximum conébénsation is T 15,000/ e H—Fﬁ{ﬁm %T i
for vegetables/éfa}ices. , acre T 15,000/TFS
Options : = Rrerea:
(A) I, and 1] (B) Tand I o (A) 1, 11 3R (B) ¥t 137l
nly
(©) Wandllonly (D) [gq ©) Faansru (D) et [ 3L
(E) Not attempted Ionly .
(E) ST el 3T =med
& 14 &



wd f

o, The original Indian Constitution had

T

52 T WA Hfam

D

& 15 &

Fundamental Rights while it presently has Tﬁ%iﬁ'ﬂl‘l:rﬁsﬁﬁ \\\Wil;im E""RTEFI'( )
Fundamental Rights, (A) :8  (B) 8;7\(\(:)—;, ; aﬁ@l’{%ﬂ
A 78 BT (067 D76 (E) 9T ey 't D7
(E) Not attempted
53, A bucket is initially filled to 3/8 of its capacity |53. m@aﬁg&ﬁm&ﬁ m%?’/sﬁ‘ﬂ?ﬁﬁ
with water. Then, 1/2 of the water currently in the ST & | T I § TR T 12 ey w
bucket is poured out. After this, water equivalent IEEIRACRISICIA RS A ) g En%;
to 1/4 of the bucket’s tota] Capacity is added. 1/4 é;amqﬁrmmm s a}’@e‘;q;;z
Finally, 1/3 of the new total volume of water in m:ﬁ;ﬁq—g;@aqmw 1/3 e ﬁﬂ{:{ﬁmmg'
the bucket is poured out.
What fraction of the original bucket’s total @Wﬁ;ﬁ mmmmm\ﬁwé
R . WG E?
capacity is still filled with water 9 A) 842 ®) 74
(A) 8/42 (B) 7124
(C) 7/16 (D) 7/48 (©) 716 (D) 7/48
(E) Not attempted (E) 3T &1 =g
54. Imagine you have three identical cube-shaped 54,/@@1 EUEIEERCILE R i THIH ST
containers, each with an edge length of 10 cm, Fe ¢, fo7% & v & fmm i ard 10 em?|
These three cubes are stacked one directly on top [ 17 75 U F IQ Uh TG TF TG ST
of the other, forming a single tower. What is the TR | I EEATE ;ﬂgﬁm WERTT‘%?
outside surface area of this structure ? > 2
2 ) (A) 1550 cm (B) 1500 cm
(A) 1550 cm (B) 1500 cm 5 5
2 2 (C) 1700 cm (D) 1800 cm
(C) 1700 cm (D) 1800 cm (E) 3 7 31 amey aym
(E) Not attempted i
35. Which one of the following pairs of international 55 Tr=fafen § & siqieia drest ok EEX ISR
organizations and their headquarters is | FTFI-TT UF I T R 0
incorrect ? (A) sréuge (IAEA) — 7 37, freteted
(A) TAEA - The Hague, Netherlands (B) THuRf (FAO) - T, 3eeit
(B) FAO - Rome, Italy (©) WW (UN) — :qfﬁ%—’ g, i
(C) UN - New York, USA (D) qjﬁ'ﬁ (UNESCO) _ 3, i@
(D) UNESCO - Paris, France g (E) 3Tt 37 ey
(E) Not attempted QR '
36. IfLCM (a, b) = 84 and HCF (a,b) = 7, which pair sg/efﬁ'/LCM (a, b) = 84 3T HCF (2, b) = 7 %%?
18 possible as values of aand b ? ﬁ?-ﬁﬁ‘qﬁaaﬁ{b%mﬁ%ﬁﬁw :
(A) 21 and 28 (B) 28and 42 (A) 21 3fR2g (B) 28342
(C) 14 and 21 (D) 7and 12 (©) 1432 (D) 7312
(E) Not attempted (E) ST ST aTRy




57.

S8.

59.

60.

3 & e TTEU T 2024 TR A
Which of the following cities was awarded the ?/ fyfafad

2024 “Green Capital of Asia” title ?
(A) Seoul

(B) Singapore

(C) Tokyo

(D) Delhi

(E) Not attempted

Which of the following statements about India’s
first bullet train project are correct ?

I It will have lifstations including Surat,

Vadodara and Sabarmati.

II. It includes the construction of India’s first

undersea rail tunnel.

ML Ttis expected to reduce travel time between

Mumbai and Ahmedabad to under three
hours.

IV. It is being executed with financial and

technical assistance from Japan.
Options : .
(A) Iand Il only (B) LII Il and IV
(C) I, Il and IV oqu (D) L Tand II1 only
(E) Not attempted , msm
If a country’s Gini" Eoefﬁcient increases after]
globalization, what d})eS it indicate ?
(A) There is no charigé in income distribution
(B) Higher international trade occurred
(C) Income inequality has worsened

(D) Poverty Ievels have decreased uniformly
(E) Not attempted

Under which Act g,Was the Trust Deed of
PM CARES Fund registered 9

(A) Companies Act, 2013

fﬁaﬁw%m%@r%ﬂmﬁmmmi
TE RN R 9 =

(A) mﬁmﬁaﬁéqﬁaﬁqﬁ@m

(B) S shriefta s gy

(©) mmﬁmaﬁuﬁm;ﬁm

(D) W%Wﬁ Y

(E) S &y s
mmm@aﬁ

e a7 el fe T ?

(A) Tt

(B) famye

(C) ofho)

(D) feeett s S
TRl AT i

%ﬁ%ﬁaﬁzﬁm%aﬁﬁﬁm%”\@“

FY A A FIAERIE ?

I o g, geie S e afRd 12 S
T |

IL. W IR it el /I 6 A B g
i g

1. 36 Hors 37N TEHIEE & <=1 I/ 7 gy
TR AT A FH A S Safig R |

Iv.sﬁamﬁrﬁ?ﬂaaﬁtaar—ﬁa?rm%m
rnfea R swr

e . '

(A) Fae [T I (B) LIL I 3k v

(C) SaSIL, 11 3fik 1v (D) a1, 11 3 111
B) S ey

. ; (A) T S, 59,5
(B) Indian Trusts Act; 1882 (B) TRt T sifrfiyensy 1882
(C) Societies Registration Act, 1860 (C) Ty :ﬂﬁ;ﬁrq'q
o ) » 1860
(D) Registration Act, 1908 (D) sfrergoy , 1908
(E) Not attempted (E) Wﬁhm
. & 16 & T 1
I -W:van“fmi;\\‘“_.‘.\“,,‘.,_?.g .-M_ e — «‘_ _
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. As per the official Haryana Government portal,
o whiEh of the following is not one of the five] frafafaa § § ﬁm% ¥ e
natural geographical divisions of Haryana ? A it § é%qﬁ% ¥ Ty W
(A) Yamuna-Ghaggar Plain (A) TR B
(B) Aravalli Range (B) 3WEeh qefame @
(C) Bundelkhand Plateau (©) ﬂmq?ﬂ'( o
O ettt gp | O PR
EEA (E) SWdiam=my
N
62. What does the acronym “MIME” stand for in the | 62¢ Faaf o “MIME”WW% :
context of email ? (A) B $e AN Uiy '
(A) Mail Internet Message Extension (B) e IO 20 B .
(B) Multipurpose Internet Mail Extensions (©) W@ﬁgﬁﬁ@
(C) Mobile Integrated Mail Encapsulation D) mmwm
(D) Microsoft Internet Messaging Environment (E) ot TE T AT
(E) Not attempted
&
63. Which of the following statements about units of | 63. =T GUEW &Y Thed & R T AR § 3
data storage is/are correct ? r/ﬁ:[.m/ﬁmuiﬁ i
I. 1 Gigabyte (GB) is smaller than 1 Terabyte . 17fmese (GB), 1?(%(’[3)1}@3@
(TB). IL 1 frehfere (Kb), 1024 FeaHavad|
II. 1 Kilobit (Kb) is equal to 1024 bits. 111 1 & (Mb), 1 3 (MB)# 1/gat s
III. 1 Megabit (Mb) is 1/8th of 1 Megabyte 21
(MB). —
Opglons; (A) ¥t 13RI
(A) Iand III only (B) Faar 11 31
(B) II and III only (©) Faa 1
1) Liony (D) e 3R I oy
(D) I and II only (E) S 3 o(g i
(E) Not attempted O
64. The ‘Chaudhary Bansi Lal Cricket Stadium’ is| 64 ‘Waﬁaﬁﬁ,ﬁz@%@ W%WW
located in which city of Haryana ? TfReag o 2
(A) Faridabad (A) W <]
(B) Panchkula (B) W
(C) Gurugram (C) Tam
(D) Lahli (D) et
(E) Not attempted (E) e e S e
o /
D &17 &

——




65. Which of the following Indian cities has a /ﬁﬂ%ﬁﬁ 3 fw qﬂ?ﬁ;:ﬁ(ﬁ “q%{
tropical wet and dry (savanna) climate ? 3R =h GELSL) RAALE! 4l
(A) Shimla (B) Bengaluru (A) famem ®) %W
(C) Shillong (D) Srinagar () Rt (D) #em
(E) Not attempted (E) 3 3

66. The “Chhau™ dance, with martial and tribal ﬁ(/w CLER 3R ST ‘%,7@
origins, is primarily from wiiieh Indian state ? &I & 4 fopg el TSI A B 7
(A) Manipur ;‘: (A) quir
(B) West Bengal \] (B) af¥em ser
(C) Assam 7= (C) JuH
(D) Haryana o% e (D) &fmom
(E) Not attempted <{] E%h (E) It 7l 37 =g

67. Under the Digital Personal Data Protection Act, |67 SRR ST UTET :ﬂﬁlﬁm{ 2023 %
2023, which of the following activities is| " 18 <& % 3y 3 ar=ail o FSfreet SRR Toyay
prohibited when processing of digital personal TR E”_ﬁ Tz frefaRad & & F- Wﬁrﬁﬁ;
data of children under the age of 18 years ? favg g9
(A) Providing educational content online (A) e Tt SHTATE ITeTey FAT
(B) Tracking or behavioggl monitoring of (B) === sl Sfek ar e fime

cutien o il (©) s < e & SRR e
© S;ils:lttmg personal ééta with parental D) s a7 32 e v § et wa
(D) Storing children’s data § \1& |, encrypted form (E) mﬁéﬂﬂﬁﬁ g@
(E) Not attempted = G
4

68. Which of the following is not a factor used to ¢ 68— HA ENEIRN rfeRor 7 S Hr anféE(T 3?@%
classify climates in the Koppen climafé Tor fraferfes F & S FF I wgfﬁﬂl
classification ? EIGIER,
(A) Wind (B) Moisture (A) T (B) 311?{?!1
(C) Temperature (D) Vegetation (C) TR (D) ey
(E) Not attempted (B) TeReiday ﬂ'l'a'ﬁ

69. Which architectural style dogs the Sun Temple at 29_/1&%17 Eaj I‘Ef iR forer wumey el =Y weldfa m
Modhera represent ? ;,;J) &9 1
A) Indo-Islamic 4 ; &
EB; Dravidian :f‘ (4) g
(C) Maru-Gurjara J? (B) wfg
(D) Kalinga 4 52 T T
(E) Not attempted ' (D) #fefm

(E) ST r sy
e o EmE T ————

o7




70. What is the revised honorarium for the ‘Yuva

71.

72.

Lekhak Samman Puraskar’ given by the Haryana
Sahitya Akademi ?
(A) 75,000

(B) %1,00,000
(C) 25,000

(D) % 50,000

(E) Not attempted

EEE

Which of the following statements is correct
regarding the history of painting in Haryana ?

\
(A) The earliest artistic expressions in Haryana ‘

were discovered at the Siswal site, featuring
designs painted on earthenware in black and
white.

(B) The Bhadrakali temple in Kurukshetra lacks
any form of frescoes or murals.

(C) The Rang Mahal in Pinjore is decorated with
wall paintings created by British artists
during colonial times.

(D) The ‘Asthal Bohar’ paintings are not found
in Panchkula and Pinjore. |

(E) Not attempted

The town of Kaithal in Haryana is historically

/Wmaﬁwematﬁmﬁqaﬁm T
T [T Ermﬁﬁmméam%q

(A) 75,000
B) 2 1,00,000?‘
(C) T25,000 -2
(D) T50,000 |
(E) IT AR AT 1_d

71, & Rt s < 2 B

AR TR ?

(A) ghemon  Fa qUe o sttt 6
e et e W o, ot et o
mmuﬁifé’%aﬁ?mﬁﬁamm

(B) TF H VT AT H R off R
Refafert (b)) 31 BTl 1 M@ R |

(©) fisie & 1 wew ShuFRiE we H A
fafem mﬁmmmmﬁsﬁa
SGIEECE

(D) Saen iR fisit o ey arge T T
fredi €1

(E) I &l AT 9TEd

O&S

7ymwm3@wmwﬁmm

linked with which famous female warrior ? AT AT ° ga@a 29
(A) Begum Hazrat Mahal (A) mm%?
(B) Razia Sultana B) T geam
(C) Rani Lakshmi Bai (C) T et =g
(D) Rani Avantibai (D) T STaidftaTs
(E) Not attempted (E) I AT 91ed
L e

&19 &
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73.  Which of the following statements about ema f il
addresses is/are incorrect ? . . iﬁ?f@{gﬁ @ IECEERR] @'—ITHT%QI
I. An email address must contain an ‘@ N ﬁa@q > mm% @E@W%

symbol. L\“i
1. Ayn email 'xddlcqq is casc-sensitive (€.g., John@example.com, john@example Con ﬂ
Iohn@uqmplc com is different from I ?) | - 1
john@exaniple.com). 1L ﬁﬁa%;“”[‘o”tﬁ? @Wa%
T There can only be one recipient in the “To” 2l :
field of an email. Rrerew
Options : (A) e |
(A) Tonly (B) aet 11 S 11T
(B) 1l and 111 only © Yt 1 I
(C) Tand I only
(D) 1, T and I1I (D) I, I 3R 111 : :
(E) Not attempted (E) ST AT e %
& :
ol

74. Which feature iﬁj.iixcel allows you to set rules for W o -t Hﬁq"iﬂ FTYh! Ul BT I TR %
how cells are.! formatted based on their YR | B EF{ﬁ * %I’Q g i Eb'{afﬁ
o

values ? o Cﬂ?ﬂﬁ’f TR

(A) Number FonPattmg (A) FsR®mf 1 :
(B) Conditional Formatting (B) et wiHfen 4

(C) Format Painter (C) wiHe dex V ;'

(D) Cell Styles (D) & T

(E) Not attempted ‘; i (B) ST & =

757 Which of the followmg describes a “hyperhnk” 15 TR o ¥ - “TRRfRiE” F7 Ui m
27

(A) Software .;,{psed to  block

pop-up :
advertisements (A) 9U-3g IERICEN N sHE FTF ma‘{tﬁ
(B) Data storeéj():in your computer by a website Hi%RR
(C) A clickablgdbject that takes you to another (B) Wa‘lmszm ATk ey 1 g 4
web resourcg (C) T foerr Y s IR INE il
(D) A program used 1o secure online 3 3 e qr A Srar g
transactions (D) 3frremgy ST Yy i ) ¥ g kel
(E) Not attempted ﬁmaﬁ ST T oy
(B) S Te 37 ey
B——'-—— &20 & T —




]p/Despite the thunderstorm, the old man re.mamed
seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
Whatever echoed in his mind was louder.

What can be inferred about the man ?
(A) He was afraid.

(B) He didn’t notice the storm.

(C) He was deep in thought.

(D) He hated the rain.

(E) Not attempted

Rewrite the following sentence i a passive voice.
Someone is watching us.

(A) We were being watched by someone.

(B) We being watched by someone.

(C) We are being watched by someone,
(D) We are watched by someone,
(E) Not attempted .

78}Vhich of the following is correctly spelled ?
7 (A) Inevatable (B) Inevitable

(C) Inevateble (D) Inevittable
(E) Not attempted

7)/Fi]l in the blank with the correct tense :
By the time we arrived, the show

(A) starts (B) will start
(C) has started (D) had started
(E) Not attempted

.80/ In which sequence should the following
sentences be arranged to form a cohesive
passage ? 3
L. His parents encouraged him to try again.

II. He failed the mathematics test.
{ III. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A)IILIL 1V, T
(B) 1L, 1, 111, IV =y
(O L1LTI, IV BEL

(D) IL IIL, 1, IV
(E) Not attempted

81 Tdentify which part of fhe follo

S
e Ing sentence hag
If I was you L. 1 Wwould net/
O (Iny
ignore the Wamit;g;/ at any cogt.
Iy 1A%)
(A1 < @B
©) v <1 (Dym

(E) Not attempted

82. ich of the follow best de
" “Throw in the towe]” 9

(A) To win

(B) To give up

(C) To celebrate
(D) Tocleanup
(E) Not attempted‘fj ‘

Mﬁnge the foll

QWing sentence into Direct
Speech : =3 g it
She-asked me if T was fine.
(A) She asked me, “Are you fine ?”
(B) She asked, “Am I fine 7
. (C) She gaid, “Are you fine ?”

(D) She asked, “Was I fine "
(E) Not attempted:/s

scribes the phrase —

o
g}

S
: CJ
MKNhat 1s the antony;nl of “Ambiguous” ?
(A) Vague O

(B) Unclear &
(C) Obscure }
(D) Definite

EyE
“.Qﬁ.
(E) Not attempted

0

/85./ Which of the following describes a person who
speaks many languages ?

(A) Bilingual

(B) Monoglot

(C) Translator

(D) Polyglot

(E) Not attempted

&21&




S B —

T —

: e fresg BN
%ﬁ%@ﬁﬁ%‘ﬁ:ﬁ’%%: 04 i w5 (B) T + 7
(AT B)JIN  (C) R, (D) acEm (A) T +T (D)STI;+W
(E) ST 31 =mea (C) T+ e
81 9% & AR ST 3 R e G R ¢ ) (B) ST <
(A) @ o firemr (B) % B W SieAT /95/ frerfefad § & e o & STHW T A F1 4,
(C) =T 9™ FT 7 (D)@ﬁrm ’ T30
(E) S &l 21 =meqy | (A) ST e (B) feramamefe arery
88, Y21 7 8 Heualys Med @ © Romensam (D) Sl amw
(A) TR (B) Fee _ ‘
(C) Fumwife (D) ot (E) ST <7 <
(E) I07e &1 e 96 Frefif & st v 8
%‘&WWM%’@%WWW%: (A) Fa (B) ferdror
(A) HFZ T Ehe M - (C) Fea (D) v
(B) %] A, 96 e 31y (E) 3% 781 3T =y
(C) uftoma & srftraar ey ¢
(D) 4 & iy e v e 7. Preafem west & e P i & 2
(E) S¥TEH &1 = AF T ©xx D@
quﬁlf@?rﬁﬁmmm%: (E) 3 7 9reny
(A) 1% (B) STies
(C) AW (D) 3T 3F S8 Rz i Sk, it areie A |
(E) ST €t 37 wreay W W St i i, B et T ||
1. ﬁw%f@aﬁﬁa{@mwm}ﬁﬁq: ST dferrli o areiem 2 -
(A) TSIt 3 firsr Y arefiats fam (A) ST
(B) 3TTSToheT WRITIR T TSI 2 | (C; el g; ETT
(C) Aer 7= 1 v oy © mgm (E) 397 <or =mmy
(D) 393 1 Tere Fopa 2 o OHg
(E) W& 1 =met o8 e 1t ey e 2
/o/ﬁwi‘aﬁaaﬁﬁmmwwﬁﬁé}:aﬁrwmw (A) Froor, Tor gefi et
WETE BT OTT Oz3 ) I, 7, 7, 7
(E) S =T 3T urRq (C) um, wie, %m,w
WW{M&WWWW@# (D) 719, T, 3, yr mym
g 3 . (E) 3 e 3 ey e
(A) FUT — HS[H; FHUTT - qean S g
(B) 311 - 37T 371 — T . et 8 s o i
(C) Ta — §aTT; WTa — a7af WITET B3 ) adt  (p)
(D) FUTZ — ETSIT; FIL — @y (E) 39T AL &7 =y
(E) 3 el &1 e \
5 &228& \ . w



